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S= B=60°
0.6m =1lkg =0.09 kgm
r=0.3m
| =0. 135 kgm
S 6 5L (1.13)
l2=mgB=l1x9. 8x0. 3x0. 135x6E258FAs4kgmlL
S = A (1.13) 1.3 A=9.8988"°
S 6 §£60° b 1,12 =0 .9093
(¥1)=1.5432/0.135=11.4311 0

w=w (L1 )=0.9093x11.4311=10.394r ad/ s
W3 ws=(sLt) =1.5432/0.09=17.147 radls
2. 73

6=A(1—cos(LI—3)wpt)+90 (1.35)

8= 9.899°( 1 —cos (10.394t)) + 60°
S=6 = ®0° 2.73 /
0 3, @0
L

IsinZ0

(cosB, —cos®  (9) ¢p=wz; —Pc 06 (1.3)

177



62 = (cosB, — coso )(ﬂ — 5 (cosB, — cosh ) ) (1.10)

1 12sin2@
¢ o
1/ 100 VBA
1.13 f(x) [a, b] n h=(b-a)/n
[ Xx xh= [a+i h,a+(i+1)h] i) AA( x

M) = AF () +f Ga)}=oAf (@ + i) + fa + (i + 1)h)}

a b

L BAGG) = B3 G +f (r)}= {5£(@) + SIS f(a+ i) + S £ (b))

;\ //'\ h=(b-a)/n -
v=f(x)
h }"l h }'1
a+2h h
?_Ih a+(n-1)h ER
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lawscos0 (), 1@sin20( ), Ly kgm2/s

L, @ sin20 + l;w5c080 = (1. 4)
| ;05C0S0 1§ sin? 0
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EC ) —Lei(C )

—162 (), —|(¢§me)2( ), mgrcos® () ()

E= —1(@sinB)? +—162 + —l;w% + mgrcos® = (1.1

mgrcoso
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